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1. With which country India conducted Joint Military Exercise Lamitye 2022?

(a) Maldives (b) Singapore

(c) Seychelles (d) Bangladesh

2. Who among the following is the winner of Nobel Peace Prize 2021?

(a) Maria Ressa (b) Abdurazak Gurnah

(c) David Julius (d) Ardem Patapoutin

3. Who among the following has announced retirement from Tennis at 25 years?

(a) Karolina Pliskova (b) Simona Halep

(c) Ashleigh Barty (d) Maria Sakkari

4. Which organization has launched the first fully private astronaut mission to the International Space
Station?

(a) ISRO (b) NASA

(c) JAXA (d) SpaceX

5. UNHRC suspended which country from the Human Rights Council?

(a) Ukraine (b) Russia

(c) Pakistan (d) Uzbekistan

6. From which country of Africa eight cheetahs were relocated to Kuno Wildlife Sanctuary in Madhya
Pradesh recently?

(a) Botswana (b) Kenya

(c) Nigeria (d) Namibia

7. Who has been sworn in as the new President of South Korea?

(a) Choo Mi Ae (b) Yoon Suk Yeol

(c) Park Yong Jin (d) Lee Jae Myung

8. In which state the newly elected President of India Droupadi Murmu belongs?

(a) Jharkhand (b) Bihar

(c) Odisha (d) Uttarakhand

9. Which player has been felicitated with the Sportstar of the Year (Male) award at the 2022 Sportstar
Aces Awards?

(a) Sumit Antil (b) Bajrang Punia

(c) Harbhajan Singh (d) Neeraj Chopra
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10. In which Session of the 8th Mizoram Legislative Assembly was e-Vidhan Application used?
(a) 8th Session (b) 9th Session

(c) 10th Session (d) 11th Session

11. The full name of King Charles III of British is
(a) Charles Philip Arthur George (b) Charles Arthur Philip George

(c) Charles Philip (d) Charles Phillip William

12. Which is the new scheme announced in the Union Budget 2022?
(a) Development of North Eastern Region

(b) Prime Minister’s Development Initiative for North East

(c) Skill India Mission

(d) Pradhan Mantri Kaushal Vikash Yojana

13. Which of the following launched IPO in 2022?

(a) Bharat Electronic Limited (b) Punjab National Bank

(c) Life Insurance Corporation (d) Bank of Baroda

14. How much tax will be levied on the transfer of virtual assets as announced in the Union Budget 2022?

(a) 20 percent (b) 30 percent

(c) 40 percent (d) 50 percent

15. When is Indian Army Day 2022?

(a) January 15th (b) January 16th

(c) January 17th (d) January 18th

16. Who has won the 2021 Booker Prize?

(a) Khaled Hosseini (b) Paulo Coelho

(c) Nuyen Phan Que Mai (d) Damon Galgut

17. Which book of Salman Rushdie won him Booker Prize?

(a) Midnight’s Children (b) The Satanic Verses

(c) Grimus (d) Nicaragua

18. Jeremy Lalrinnnunga a 19 years old weightlifter won Gold Medal in Commonwealth Games with a
total lift of

(a) 293 kg (127 kg + 166 kg) (b) 290 kg (130 kg + 160 kg)

(c) 300 kg (140 kg + 160 kg) (d) 295 kg (135kg + 160kg)

19. Which Asian country has declared a nationwide public emergency amidst protests over the economic crisis?

(a) South Korea (b) Japan

(c) China (d) Sri Lanka

20. Al-Aqsa Mosque, sometimes seen in the news, is located in which city?

(a) Jerusalem (b) Riyadh

(c) Isluscat (d) Rotne

21. Who among the following lost his Visa appeal, was deported from Australia, and did not participate
in the Australian Open 2022?

(a) Roger Federer (b) Rafael Nadal

(c) Daniel Medvedev (d) Novak Djokovic

22. The present Governor of Reserve Bank of India is

(a) Urjit Patel (b) Shaktikanta Das

(c) Raghuram Rajan (d) Arvind Subramaniam
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23. Mixed Economy means
(a) Complete state control of the economy (b) Complete absence of state control

(c) Coexistence of public sector and banks (d) Coexistence of public and private sectors

24. Which Goods & Services Tax is levied by the central government?
(a) CGST & IGST (b) CGST & SGST

(c) CGST only (d) IGST only

25. Globalisation of Indian economy means
(a) Establishing Indian business abroad

(b) Delicensing of companies

(c) Integrating domestic economy with the rest of the world

(d) Permitting external borrowing and propagation of import substitution

26. Which statement is correct about inflation?

(a) Headline inflation is the raw inflation reported through WPI

(b) Core inflation is the inflation reported through CPI
(c) Core inflation excludes food and fuel items from headline

(d) CPI is the sum of wholesale price index and index of industrial production

27. Monetary policy is regulated by
(a) Commercial banks (b) The Central Government

(c) Ministry of Commerce (d) The Central Bank

28. Persons who had no gainful work for a major time during the last one year preceding the date of
survey and are seeking or are available for work are called

(a) Unemployed by Usual Status (b) Unemployed by Yearly Status

(c) Unemployed by Monthly Status (d) Annual Unemployment

29. In which sector is the disguised unemployment a common phenomenon?
(a) Trade (b) Industry

(c) Service (d) Agriculture

30. When the rate of tax increase with the increase in income of the individual, the tax is called

(a) Neutral (b) Progressive
(c) Regressive (d) Buoyant

31. Absolute poverty means

(a) Poverty in terms of the absolute number of people

(b) Poverty in terms of the basic minimum calorie requirements

(c) Poverty in terms of prevailing price level
(d) Poverty in terms of absolute level of unemployment

32. The minimum daily calorie requirements adopted for determination of poverty line in India for rural
and urban areas are, respectively,

(a) 2100 and 1800 (b) 2300 and 1900

(c) 2400 and 2000 (d) 2400 and 2100

33. The Mizoram Budget 2022-23 announced formation of Manpower Assessment Committee to
(a) Make an assessment of the number of posts required to be retained or created

(b) Make recommendation for abolition of posts as economy measure

(c) Recommend filling up of posts as soon as vacated

(d) Recommend measure to clear backlog in filling up vacancies in the government office
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34. The estimated amount of Grants for Rural Local Body by the Mizoram Budget 2022 is
(a) ` 71 crores (b) ` 35 crores

(c) ` 47 crores (d) ` 65 crores

35. Which of the following may not be counted under the Capital Receipts of Mizoram state government
(a) Market Borrowing (b) Borrowing from Financial Institutions

(c) Post Devolution Revenue Deficit Grant (d) Ways & Means Advances

36. Which of the following is not a measure of Human Development Index?

(a) Life expectancy (b) Sex ratio

(c) Literacy Rate (d) Gross enrolment

37. The base year for calculating GDP in India at present is

(a) 2009-10 (b) 2011-12

(c) 2014-15 (d) 2004-05

38. Pradhan Mantri Jan-Dhan Yojana was launched for

(a) Providing housing loan to poor people at cheaper interest rates

(b) Promoting women’s self-help groups in backward areas
(c) Promoting financial inclusion in the country

(d) Providing financial help to the marginalized communities

39. Which is the right sequence on the ranking of states in literacy rates as per 2011 population census?
(a) Kerala, Mizoram, Lakshadweep (b) Mizoram, Kerala, Lakshadweep

(c) Kerala, Lakshadweep, Mizoram (d) Lakshadweep, Mizoram, Kerala

40. When was the 17 Sustainable Development Goals of the 2030 Agenda for sustainable development
adopted by world leaders?

(a) 2012 (b) 2013
(c) 2014 (d) 2015

41. Which type of Goods and Service Tax (GST) is applicable on imports of goods?

(a) SGST (b) CGST
(c) IGST (d) CGST & IGST

42. Which of the following market indices is related to National Stock Exchange?

(a) SENSEX (b) NIFTY
(c) NCDEX (d) MCX

43. The Chairman of the SEDP Board under Education Department in Mizoram, named Human Resource
Development Board, is

(a) Pu Zoramthanga (b) Pu Lalchhandama Ralte
(c) Pu L. Thangmawia (d) Dr. Renu Sharma

44. Which of the following reports is directly associated with the conceptualization of Sustainable
Development?

(a) Brundtland Report (b) World Development Report
(c) Global Hunger Index Report (d) Global Assessment Report

45. Who was the chairman of NEP 2020 drafting committee?
(a) Kailasavdivoo Sivan (b) K. Kasturirangan
(c) Yaspal Sharma (d) G. RajaGopal

46. NITI Aayog is
(a) A non-constitutional and non-statutory body (b) A quasi-federal judicial body
(c) An independent constitutional body (d) A constitutional body
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47. Which one of the following is NOT a web browser?
(a) Firefox (b) Facebook

(c) Chrome (d) Safari

48. Which of the following Covid-19 vaccine is not used in India
(a) Covaxin (b) Covishield

(c) Sputnik (d) Comirnaty (Pfizer)

49. Who was the composer of the song “Vande Mataram”?
(a) Rabindra Nath Tagore (b) Ramdhari Sing Dinkar

(c) Sorojini Naidu (d) Bankim Chandra Chatterjee

50. Which among the following words is not written in the Preamble to the Constitution of India?
(a) Sovereign (b) Socialist

(c) Secular (d) Feudal

51. National Disaster Management Authority is
(a) Statutory Body (b) Constitutional Body

(c) Quasi-Judicial Body (d) None of these

52. Which Constitutional Amendment envisages the foundation of Panchayati Raj System?
(a) 70th Amendment (b) 71st Amendment

(c) 73rd Amendment (d) 74th Amendment

53. Which Article of the Constitution of India was abrogated by the Central Government recently?
(a) Article 370 (b) Article 371

(c) Article 372 (d) Article 373

54. The Speaker of Lok Sabha is elected by
(a) The people directly (b) All the members of Parliament

(c) Members of the Majority party in Lok Sabha (d) Members of the Lok Sabha

55. Finance Commission consists of
(a) Five members (b) Chairman and four members

(c) Chairman and two other members (d) Chairman and three other members

56. The Chairman of the Goods & Service Council is
(a) The Prime Minister (b) Union Finance Minister

(c) Union Commerce Minister (d) Chairman of NITI Aayog

57. The book “Lehkhabu Ramtiam” was written by
(a) Laltluangliana Khiangte (b) B. Lalthangliana

(c) R.L. Thanmawia (d) Lalthangfala Sailo

58. In which year Mizo leh Vai Chanchin, a monthly magazine was first published?
(a) 1900 (b) 1901

(c) 1902 (d) 1903

59. When was the Mizo Poets’ Square namely “Mizo Hlakungpui Mual” set up?
(a) 1996 (b) 1999
(c) 1986 (d) 1989

60. ‘Mizo Pi Pute leh an thlahte chanchin’ was written by
(a) J. Malsawma (b) K. Zawla
(c) Rev. Zairema (d) R. Vanlawma
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61. Who wrote the essay “Rihdil leh Mizoram”?
(a) Lalzuia Kawlni (b) P.L. Liandinga

(c) Siamkima Khawlhring (d) Vanneihtluanga

62. The second five year plan started from
(a) 1950 (b) 1952

(c) 1955 (d) 1956

63. Who was the Prime Minister of India during Indo-Pak war in 1965
(a) Jawaharlal Nehru (b) Indira Gandhi

(c) Lal Bahadur Shastri (d) Rajiv Gandhi

64. When did India conducted its first nuclear test?
(a) 18th May 1974 (b) 15th August 1974

(c) 28th August 1974 (d) 18th May 1975

65. Reorganisation of states in India on linguistic basis was done in
(a) 1953 (b) 1954

(c) 1955 (d) 1956

66. “Operation Blue Star” is associated with
(a) Akshardham Temple (b) Golden Temple

(c) Babri Masjid (d) Taj Mahal Hotel

67. During which of the following periods did Morarji Desai served as the Prime Minister of India?
(a) 1975-1976 (b) 1974-1975

(c) 1977-1979 (d) 1980-1982

68. The political party that came into power after the national emergency was
(a) Bahujan Samaj Party (b) Congress (D)

(c) Indian National Congress (d) Janata Party

69. Which is NOT the feature of Indian Constitution?
(a) Adoption of Universal Adult Franchise

(b) Preference to Hindu Religion

(c) Equal rights to all citizens

(d) Special privileges for the poor and disadvantageous Indians

70. Mahatma Gandhi was assassinated by Nathuram Godse on

(a) 28th January, 1948 (b) 30th January, 1949

(c) 30th January, 1948 (d) 28th January, 1949

71. Bonded Labour System (Abolition) Act was in

(a) 1974 (b) 1975

(c) 1976 (d) 1977

72. When did Mizoram became a Union Territory?

(a) 21 January 1972 (b) 21 January 1982

(c) 21 January 1977 (d) 21 January 1987

73. The provisions of the Sixth Schedule to the Constitution of India are provided under ________ of
the Constitution of India.

(a) Article 244 and 275 (b) Article 244(1) and 275(1)

(c) Article 244(2) and 275(1) (d) Article 244(3) and 275(1)
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74. How many times President’s Rule was imposed in Mizoram?
(a) One (b) Two

(c) Three (d) Four

75. What is the legal nature of the Preamble of the Constitution?
(a) It is enforceable (b) It is not enforceable

(c) It may be enforced in special circumstances (d) None of the above

76. The 73rd Amendment Act was enacted under the Prime Ministership of
(a) P.V. Narasimha Rao (b) Rajiv Gandhi

(c) H.D. Deve Gowda (d) I.K. Gujral

77. Which one of the following Acts forms the basis of the Constitution of India?
(a) Rowalatt Act, 1919 (b) Government of India Act, 1919

(c) Government of India Act, 1935 (d) Government of India Act, 1947

78. The Rule of Law in Indian Constitution is drawn from
(a) United States (b) United Kingdom

(c) USSR (d) Japan

79. Yellow Revolution refers to increasing production of
(a) Food grain (b) Eggs

(c) Oil Seeds (d) Tomato

80. Once the Demand for Grants and expenditure of different departments are passed by the Parliament, a
bill to draw money from Consolidated Fund of India for these purposes is introduced. This bill is called

(a) Finance Bill (b) Money Bill

(c) Appropriation Bill (d) Credit Budget Bill

81. What comes in place of question mark (?) in the following number series?
3, 5, 13, 49, 241, ?

(a) 1541 (b) 4411

(c) 1600 (d) 1441

82. Replace the question mark (?) in the given series with the suitable options

1, 4, 9, 16, 25, 36, ?

(a) 46 (b) 38

(c) 41 (d) 49

83. Vinay is taller than Hansika, Hansika is taller than Abhay, Alok is taller than Ashok and Ashok is taller
than Vinay. Who is the shortest?

(a) Alok (b) Ashok

(c) Hansika (d) Abhay

84. Sunil is heavier than Abhinav but not as heavier as Rajiv. Abhinav is heavier than Jayesh. Kashi is
heavier than Sunil but not as heavier as Rajiv. Who is the heaviest?

(a) Sunil (b) Abhinav

(c) Rajiv (d) Kashi
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Directions to solve Questions No. 85 & 86 : In the following questions, certain pairs of words are
givne, out of which the words in pairs except one, bear a certain common relationship. Choose the
odd pair.

85. (a) Horse : Neigh

(b) Lion : Grunt
(c) Sheep : Bleat

(d) Owl : Hoot

86. (a) Clerk:  File
(b) Doctor : Patient

(c) Lawyer : Client

(d) Shopkeeper : Customer

87. Given below is a word, followed by four other words, one of which can be formed by using the
letters of the given word. Find that word.

TEACHER

(a) RATE (b) TEEN

(c) RENT (d) TOUCH

88. Given below is a word, followed by four other words, one of which cannot be formed by using the
letters of the given word. Find that word.

POTENTIAL

(a) TENT (b) LITTLE
(c) POTENT (d) TITLE

Directions to solve Questions No. 89 & 90 : Find the word from the given alternatives which bears
exactly same relationship to the third word, as the first two bears.

89. Calm is related to ‘Cool’ in the same way as ‘Abandon’ is related to
(a) Down (b) Leave

(c) Attract (d) Clear

90. Doctor is related to ‘Stethoscope’ in the same way as ‘Painter’ is related to
(a) Painting (b) Brush

(c) Exhibition (d) Art

91. Complete the sequence

Answer figure :

(a) (b) (c) (d)
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92. Complete the sequence

Answer figure :

(a) (b) (c) (d)

93. Which domino comes next in the sequence?

Answer figure :

(a) (b) (c) (d)

94. Which is the odd string of letters out?

(a) S F G H J (b) H J S F G
(c) F G H J S (d) G S F H J

95. A person crosses a 600 m long street in 5 minutes. What is his speed in km per hour?

(a) 3.6 (b) 7.2

(c) 8.4 (d) 10

96. An aeroplane covers a certain distance at a speed of 240 kmph in 5 hours. To cover the same
distance in 1 2/3 hours, it must travel at a speed of?

(a) 300 kmph (b) 360 kmph

(c) 600 kmph (d) 720 kmph

97. Which of the following diagrams indicates the best relation between Travelers, Train and Bus?

(a) (b)

(c) (d)

98. A person walking at 4 Kmph reaches his office 8 minutes late. If he walks at 6 Kmph, he reaches
there 8 minutes earlier. How far is the office from his house?

(a) 3 1/5 Km (b) 2 1/5 Km

(c) 4 1/5 Km (d) 5 1/5 Km
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99. What would the 3D shape look like from above?

(a) (b) (c) (d)

100. Which of the given shapes is the correct mirror image?

(a) (b) (c) (d)

* * * * * * *


